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4. Haltaure wamGosuimee ueaoe peweime nepanericraa -A1110) <
D6 27 N8 99 10

5. Koawuecrso ueaex peusers wepasencrsa ' - 163-+64 < 3z - 8 pastio
D6 92 33 h4 9

6. VkaRme wrcpsas, KOTOpoMY MPMNAAICANT CYMMA KODHEH WM KOPEHs, CCIN OW CaMHCTRCWIE,
ypasnerns x* +10x =1-x
DOS529 DELKO HES) HES49 9010

7. Thocae napanneasiioro neperioca rpaduKa Gywkusen y = sindx +3 v 5 Ricso s 2 et siu

onysaeres rpan dywcoin
1 y=sindrsd

2) y=4(cos3x—VAsin3x) +1
3) y=4(Bsindx + cosdx) +1
0 =4tz -cosin) +1
5) y=—4(3sindx + cos3x) +1

3. Bean clgar =}, o mavenne fg(}f - 2a) paso
N 27 M-y 94 97

9. Buswcnrs tgCarcsin(-1)-+ £)
n-4 24 H-v3 93 50
10, Vrauomre npoucytos, soropowy npwaieRT poiscacie Kopuell KiK. Kopeks, €< on

‘cancTheHuR, ypamwes | + oga(x +2) = log (165 -3).
DOSLEH DESID NOHAD HEZSY 96460





